Math 153 - Quiz 10 Name ke{\j
April 27, 2017 Score

Show all work to receive full credit. Supply explanatlons when necessary. YOU MUST WORK
INDIVIDUALLY.

1. (3 points) A confidence interval estimate for a population proportion is (0.565, 0.623).
Find the point estimate p and the margin of error E.
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= 0.693-0.994 = 0.039

2. (2 points) Compute the value of z, /2 for a 90% confidence level.
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3. (5 points) In a recent survey of 2000 randomly selected Russian adults, 61% said that
income inequality in their country has increased in recent years. Find a 95% confidence
interval estimate for the true proportion of Russian adults who think income inequality
has increased. Give an interpretation of your interval in a complete sentence.
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